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noY 21 said; let us see — JAR 977791 O 21 AN

OVERVIEW
noY 27 concluded that the 71597 is Y012 1R 1902 (like 3"awn). Mmoon qualifies the
parameters of this ruling.

mooIn anticipates a difficulty:
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Even though 121 27 maintains here that %212» X w2 (and the w3 is effective),
nevertheless -
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noY 21 stated in the first P92 of 7P noon that 29 would administer lashes

for one who was »van a v3; the question is why was 7311 21 -
— 250921 13987 22 Y 9N

Even though the v3 is not %v12%?! Seemingly no harm was done.

mooIn responds:
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For nevertheless he is fomenting false gossip on the ©3; people will say she is not
divorced for he was H0an the 03, therefore he deserves the whipping -
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Just as 27 would whip one who was w7p» in the marketplace or one who was

wrpn with 78°3, even though that there is no prohibition to do so, (but it is
considered promiscuous), similarly here the act of 910°2 is deserving of lashes since he is XX
Y.

SUMMARY
27 was X3 D02anT IRAR 72 even if we maintain 70121 1903, since he is 192 XX on
the va.

THINKING IT OVER
Why did not Moo answer that through his 71v°2 he caused the 3127 to be ¥°p5n the
TY17°P, resulting that all his previous NX"2 were N7 nxoa?’

! See the 873 there that 7o 11 ruled to be 7311 one who was Xp1w2a w7pn (in accordance with s'27 ruling).

2 If the ruling was “van Wwa then it is understood why 27 was T3, since this action of 92 has serious
repercussions; the woman may get married with a 02 v3; however since the 711 is ineffective and the v is
effective why was X112 2027 18K 72311 212!

¥ See 1"nX # 82.

TosfosInEnglish.com



